

TOTAL COST OF CARE (TCOC)

2022 measurement year Definitions provided on last page

GROUP NAME	ALL PATIENTS		ADULTS		CHILDREN		COST	RELATIVE RESOURCE	RELATIVE
	тсос	Rating	тсос	Rating	тсос	Rating	INDEX	USE	PRICE INDEX
AALFA Family Clinic	\$564	Below	\$668	Below	\$255	Below	0.86	0.98	0.88
All About Children Pediatrics - Children's Health Network	\$702	Average					1.07	1.17	0.91
Allina Health	\$641	Below	\$749	Below	\$301	Below	0.98	1.00	0.97
Alomere Health	\$637	Average	\$740	Average	\$324	Average	0.97	1.00	0.93
Altru Health System	\$701	Above	\$841	Above	\$279	Below	1.07	1.04	1.02
Amery Hospital and Clinic	\$695	Average	\$814	Average	Υ <u></u>	Detow	1.06	1.05	0.99
Avera Medical Group - Granite Falls	<i>Q</i> 0000	Meruge	ŞOLI	Meruge			1.00	1.01	0.55
Health Center	\$782	Above					1.19	1.06	1.13
Avera Medical Group - Pipestone	\$663	Average	\$793	Average			1.01	0.94	1.07
Avera Medical Group- MCGREEVY	2003	Average	2122	Average			1.01	0.34	1.07
CLINIC, United Medical Center,	\$778	Above	\$934	Above			1.18	1.20	0.98
Worthington Speciality Clinic	2110	ADOVE	3934	ADOVE			1.10	1.20	0.98
CCM Health	\$759	Above	\$908	Above			1.16	1.02	1.13
CentraCare Health		Below			6200	Polow			
Central Pediatrics	\$580	Below	\$678	Below	\$280	Below	0.88	0.91	0.97
Child and Teen Medical Center	\$613		\$694	Average	\$307	Below	0.93	1.02	0.91
Children's Clinic Network	\$589	Below	6740		\$300	Average	0.90	1.02	0.88
	\$631	Below	\$746	Average	\$315	Average	0.96	1.03	0.94
Children's Minnesota	\$1,106	Above	4010		\$554	Above	1.68	1.64	1.02
Clinic Sofia Ob/Gyn	\$551	Below	\$642	Below			0.84	1.00	0.84
Community Memorial Hospital	\$716	Average	\$831	Average			1.09	0.94	1.16
Community University Health Care	\$570	Below	\$661	Below			0.87	1.01	0.86
Center									
Cuyuna Regional Medical Center	\$622	Below	\$741	Average	\$253	Below	0.95	0.91	1.04
Dulcimer Medical Center	\$642	Average	\$758	Average			0.98	0.85	1.15
Eagan Valley Pediatrics	\$743	Average			\$380	Average	1.13	1.20	0.94
Edina Sports Health & Wellness	\$567	Below	\$655	Below			0.86	0.93	0.92
Entira Family Clinics (formerly Family Health Services MN)	\$587	Below	\$680	Below	\$316	Average	0.89	0.97	0.92
Essentia Health - Central Region	\$636	Average	\$743	Average	\$314	Average	0.97	0.91	1.06
Essentia Health - East Region	\$745	Above	\$872	Above	\$355	Above	1.13	1.01	1.13
Essentia Health - West	\$638	Average	\$755	Average	\$281	Below	0.97	0.95	1.02
Fairview Health Services	\$672	Above	\$777	Above	\$358	Above	1.02	1.06	0.96
Fairview Mesaba Clinics	\$754	Above	\$859	Above	\$435	Above	1.15	1.04	1.10
Family Health Care of Siouxland	\$525	Below	\$577	Below	Ç 100	1.0000	0.80	0.93	0.86
France Avenue Family Physicians	\$626	Average	\$731	Average			0.95	1.02	0.93
Gateway Family Health Clinic	\$660	Average	\$781	Average	\$282	Below	1.00	0.93	1.08
Glencoe Regional Health Services	\$645	Average	\$760	Average	\$289	Average	0.98	1.00	0.98
Glenwood Medical Center	\$643	Average	\$774	Average	720J	weruge	0.98	0.93	1.05
Grand Itasca Clinic	\$672	Average	\$791	Average	\$307	Average	1.02	1.00	1.03
Grow Pediatrics	\$650	Average	212T	Average	\$307	Average	0.99	1.00	0.87
Gundersen Health System		-	¢0Ε0	About		Above			
HealthPartners Clinics	\$829	Above	\$950 \$707	Above	\$462		1.26	1.03	1.23
	\$611	Below	\$707	Below	\$320	Average	0.93	1.01	0.92



TOTAL COST OF CARE (TCOC)

2022 measurement year Definitions provided on last page

GROUP NAME	ALL PATIENTS		ADULTS		CHILDREN		соѕт	RELATIVE RESOURCE	RELATIVE PRICE
	тсос	Rating	тсос	Rating	тсос	Rating	INDEX	USE	INDEX
Hennepin Healthcare	\$656	Average	\$758	Average	\$356	Above	1.00	1.08	0.92
Hudson Physicians	\$561	Below	\$657	Below	\$272	Below	0.85	0.92	0.93
Hutchinson Health	\$616	Below	\$717	Below	\$307	Average	0.94	0.94	1.00
Infinite Health Collaborative	\$608	Below	\$709	Below			0.93	1.00	0.92
Kittson Healthcare Clinic	\$722	Average					1.10	1.03	1.07
Lake Region Healthcare	\$710	Above	\$842	Above	\$305	Average	1.08	0.96	1.13
Lake View Clinic - Two Harbors	\$730	Average	\$849	Average			1.11	0.98	1.13
Lakeview Clinic	\$591	Below	\$678	Below	\$316	Average	0.90	0.94	0.96
Lakewood Health System	\$660	Average	\$798	Average	\$256	Below	1.01	0.92	1.09
Mankato Clinic, Ltd.	\$646	Average	\$750	Average	\$333	Average	0.98	0.88	1.12
Mayo Clinic	\$1,236	Above	\$1,438	Above	\$620	Above	1.88	1.23	1.53
Mayo Clinic Health System - Fairmont	\$842	Above	\$993	Above			1.28	0.91	1.40
Mayo Clinic Health System -									
Franciscan Healthcare in La Crosse	\$1,030	Above	\$1,200	Above			1.57	1.02	1.54
Mayo Clinic Health System -									
Northwest Wisconsin Region	\$1,031	Above	\$1,224	Above	\$442	Above	1.57	1.04	1.51
Mayo Clinic Health System -									
Southeast Minnesota Region	\$875	Above	\$1,030	Above	\$393	Above	1.33	1.00	1.34
Mayo Clinic Health System -									
Southwest Minnesota Region	\$855	Above	\$1,003	Above	\$397	Above	1.30	0.99	1.32
Meeker Memorial Hospital & Clinics	\$642	Average	\$752	Average	\$307	Average	0.98	0.97	1.01
Mendakota Pediatrics Ltd	\$696	Average		Average	\$352		1.06	1.15	0.92
Mille Lacs Health System	\$709	Average		Average	333Z	Average	1.08	0.89	1.21
Minnesota Women's Care	\$590	Below		Below					
North Memorial		Below	\$688 ¢722		¢210	A	0.90	1.04	0.86
Northern Lights Pediatric and	\$622	Delow	\$722	Below	\$316	Average	0.95	1.01	0.93
Adolescent Medicine	\$599	Average			\$303	Average	0.91	1.04	0.88
Northfield Hospital + Clinics	\$686	Above	\$803	Average	\$330	Average	1.05	0.99	1.05
NorthPoint Health & Wellness Center	\$789	Above	\$936	Above			1.20	1.27	0.95
Northwest Family Physicians	\$557	Below	\$647	Below			0.85	0.94	0.90
Olivia Hospital & Clinic	\$760	Above	\$881	Above			1.16	0.97	1.20
Olmsted Medical Center	\$783	Above	\$924	Above	\$349	Average	1.19	0.88	1.36
Ortonville Area Health Services-									
Northside Medical Clinic	\$654	Average	\$774	Average			1.00	0.89	1.12
Park Nicollet Health Services	\$598	Below	\$689	Below	\$323	Average	0.91	0.95	0.96
Parkview Medical Clinic - Minnesota				Detom	Ψ020	riveruge	0.01	0.00	
Healthcare Network	\$614	Average	\$727	Average			0.94	0.92	1.01
Pediatric & Young Adult Medicine	\$568	Below			\$283	Below	0.86	0.94	0.92
Pediatric Services - Children's								0.01	
Physician Network	\$722	Above			\$356	Above	1.10	1.22	0.90
Perham Health	\$637	Average	\$753	Average	\$289	Average	0.97	0.93	1.04
Planned Parenthood Minnesota,	\$624	Average	\$724	Average			0.95	1.14	0.83
North Dakota, South Dakota		- U		Ū					

2 | 2022 MY Appendix Tables



TOTAL COST OF CARE (TCOC)

2022 measurement year Definitions provided on last page

GROUP NAME	ALL PATIENTS		ADULTS		CHILDREN		соѕт	RELATIVE RESOURCE	RELATIVE PRICE
	тсос	Rating	тсос	Rating	тсос	Rating	INDEX	USE	INDEX
Premier OB/GYN of Minnesota	\$604	Below	\$703	Below			0.92	1.03	0.89
Richfield Medical Group	\$604	Average	\$699	Average			0.92	0.99	0.93
Ridgeview Clinics	\$638	Average	\$747	Average	\$280	Below	0.97	1.01	0.96
RiverView Health	\$607	Average	\$720	Average			0.92	0.86	1.07
Riverwood Healthcare Center	\$714	Above	\$848	Above			1.09	1.10	0.99
Rural Health Care, Inc	\$590	Below	\$707	Below	\$252	Below	0.90	0.88	1.02
Sanford Health	\$641	Below	\$757	Average	\$289	Below	0.98	0.97	1.01
Sartell Pediatrics - IHN	\$624	Average			\$301	Average	0.95	1.01	0.95
Sawtooth Mountain Clinic	\$767	Above	\$923	Above			1.17	0.94	1.25
Scenic Rivers Health Services	\$720	Average	\$825	Average			1.10	0.95	1.15
Sleepy Eye Medical Center	\$796	Above	\$954	Above			1.21	1.06	1.15
South Lake Pediatrics	\$579	Below	\$728	Average	\$285	Below	0.88	0.95	0.93
Southdale Pediatric Associates, Ltd	\$623	Below	\$647	Below	\$317	Average	0.95	1.02	0.93
St. Croix Regional Medical Center	\$658	Average	\$774	Average	\$296	Average	1.00	1.02	0.98
St. Luke's Clinics	\$695	Above	\$819	Above	\$311	Average	1.06	1.04	1.02
Stellis Health, PA	\$604	Below	\$710	Below	\$284	Below	0.92	0.99	0.93
Stevens Community Medical Center	\$764	Above	\$929	Above	\$287	Average	1.16	1.01	1.15
Swift County Benson Health Services	\$657	Average	\$771	Average			1.00	0.92	1.09
Synergy Family Physicians, P.A	\$564	Below	\$639	Below			0.86	0.94	0.91
Tri-County Health Care	\$737	Above	\$869	Above	\$327	Average	1.12	0.96	1.17
United Family Medicine	\$582	Average					0.89	0.96	0.92
United Hospital District Clinic	\$708	Average	\$861	Above			1.08	0.91	1.18
Unity Family Healthcare, Family Medical Center	\$590	Below	\$699	Below	\$260	Below	0.90	0.90	1.00
University of Minnesota Physicians	\$613	Average	\$717	Average			0.93	0.99	0.95
Voyage Healthcare	\$607	Below	\$704	Below	\$325	Average	0.92	1.00	0.93
Wayzata Children's Clinic	\$584	Below			\$294	Below	0.89	0.96	0.93
Welia Health	\$728	Above	\$868	Above	\$297	Average	1.11	1.04	1.07
West Side Community Health Services	\$688	Average	\$801	Average		Ū	1.05	1.14	0.92
Western Wisconsin Health	\$623	Average	\$745	Average			0.95	0.91	1.05
Westfields Hospital and Clinic	\$645	Average	\$755	Average	\$313	Average	0.98	1.06	0.93
Winona Health Services	\$591	Below	\$671	Below	\$343	Average	0.90	0.80	1.12



DEFINITIONS

TOTAL COST OF CARE (TCOC)

Comparison of the average monthly cost for a commercially insured patient

- Cost = (Payments by insurance + Patient copays + Patient deductibles) Insurer discounts
- Values are adjusted for patient severity and risk
- Costs are for all costs, not just for the costs at the attributed medical group

COST INDEX

The ratio of risk adjusted cost of care to the market average (1.00)

PRICE INDEX

Relative comparison of price per unit for a commercially insured patient after insurer discounts are applied

• A value above 1.00 (market average) indicates higher prices